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But if not for this, it would be returned intact

OVERVIEW

noY 27 explained that awn MW is M7 Awyn M1wd. The XMi challenges this view
from the 7awn which states that there is a 2°»21 nipn that a thief, who stole a beam
and built it into his house, is only required to pay for the beam but not to return it.
We can infer from this mawn that were it not for this 71PN, the thief would be
required to return the beam even though there is a awn MW (it is now called a
ceiling; not a beam). This proves that awa MW is not 71p. Our M>doIN will discuss
whether awn MW requires WX as well, or not (in contradiction to the previous
1w 17"7 N1voIN).

=939 05YaN DIYWNNN N33 INIAY 119D WIIN ‘onoy
And presumably, the owners are wX»n» from the beam once it is built into the
house.

mooIn asks:
= 4D 299 NON NUPN RDT YHWUNT 9IRN ON)

And if you will say; that it appears the X723 is only challenging 1%y 29 (who
maintains 7137 awn M1w), but not 727 who maintains that ¥IX> is 7P (but not necessarily "W
awn). However, since we are seemingly forced to say that the 71wn is discussing where there was
vIR> (for otherwise there would be no question on 791 27 [since he maintains awn MW is 7P
only if it is together with wIX°]), then -

= 9P NTY9) WINY 197 990 NaYY NYPT 1OV Y5 NN
On the contrary the mwn certainly poses a greater difficulty according to 7129,
for 7727 maintains that @8> alone (without Qw: "12°W) is M31P. Why therefore is there a
need for the 773pn; the thief is not required to return the w7 regardless, since there is X,

mooIn strengthens his question:
- 213m N9 WINYT $1UN NIDNT D399 AUPN SNIN 1YY Y YT 3IUNT INND)
And even when the X ) answers (for 701 27) that there is no own M1°w for the

' mooin previously stated (1w 71"72) that own "W is AP only if it is accompanied by wiX; perhaps the owner was
not wX»nn from the w>n. Therefore N2oIN negates this suggestion.

% mooIn questions are predicated on the assumption that by the 7awn of w*n the owners were wx™; (for this is the
ono assumption and mainly) if there is no IX> what is the question on 701 27. According to 701° 27 the oW "MW is
effective only if there is WIX> (as M5OI mentioned previously M"Y 77"72)
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beam retains its name; nevertheless there is still a difficulty to 1729, for from
this 71w it seems that wIRv is not 721p9.

D50 answers:
- 35999N WINY X927 W95 NI

And it therefore seems that we need to explain that the 71wn of w1 is discussing

a case where there was no 2IX° (only awi "°w presumably) -

- 959 NI ©IY2 XY DUN MPYT RNV NN INX 9D 299 7599 9975
And therefore the challenge is to 19 29 (and not to 7727) as follows: It is well if
you maintain that 2w %2 is meaningless, the 71w» will be properly understood.
The was no ¥IX°, and oW "1°w is not 1P, therefore without the 771pn the 213 would have to return

the beam intact, since he was not 7123 the beam -
- 530 VING BY ‘Y0P DYN MPYT NN INX NIN
However if you maintain that a small 2w 1w together with 2IR° is 739 (as is

the case by the mwn of the maw) -
= 138Y 393 IMIPY 1D YW WINT IND 23 D)) OWUN MY )5 DN

If that is so, then by a major awn "o like this case of @, this 7173 awi "W
should be 1299 by itself without v

mooin finds support for his contention that there is a difference between a minor awn "1°¥ and a
major oW PW:
- 535 NTY9) 2IWN DUA MUY Y ynwn 19

And so it appears previously that a prominent 2w 1152 is 712 alone -
- 2)wn DWAH MY MNNT OVUN MNPYA NP IIN AU 1YV 233 533 2997

Where X771 "1 asks concerning the case where he stole a sheep and it became a
ram (the ruling is that the 213 pays 'm '7 for 77°0m Ar°av; the question is why
should he pay '™m '7); let the 213 acquire the ram through aw: "> (even if there
was no W) for the name change from a 770 to an ?°X is a prominent aw:7 MW,

In summation: According to this interpretation, 701> 27 maintains that a vp awn "W requires
VIR’ to be 7P (this is the case of Xax°y); if there is a 2Wwn awn 1w then it is 71 without YR
(this is the case of w7 in the X" 7).

? Therefore there can be no questions on 7127 since there was no W, and W "W is not ANp according to 72

* MpoIN maintains that just as the 7wyn MW of WP is a minor WY "W and requires WIX* with it (see 1132 7"7 N1BOIN
2,90 77); similarly the awn "W from X5wn» to TMAX is a minor aws MW, and (only) therefore it requires WIX> to
accompany it in order to be I1p. See *"15.

% a,70.

% See 0" who distinguishes between a 21wn owi "W (by a 2% AwWYN 790), which is the greatest awn 1w and "W
9173w (by a w*n) which is a greater "11°w than M7y and lesser than 2°X 7wy 7%v.
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mooin offers a different interpretation:
- "WINy NYa G0 299 %P NT9) WU MY NN DIPN Y27 9219 W TV

And in addition one can say; than in all cases n©1° 29 maintains that 2w "W

alone is 7277 without wIR" -
= YINY ND2 Y9193 1D D9nD v 7o

And therefore the awn "1 should be beneficial for the thief to acquire the w>an»
without wIN> —

mooin explains the anticipated difficulty; if awn "11°w is always 7112, why is WIR> necessary in the
case of MW for the thief to designate it as a 73 *3 -
= YIND DWN MNIPY DIVN M7 1PIPT 123D DIVN IND MY WINY To98Y T

For that which we say that 2R is necessary in the 71wn of ™, it is not because

of acquisition, for acquisition is accomplished through aw:? 112 alone -
= 1PT9AN NIV 1IN NIYNN DIPPY 275 NIN 7298 1PN YINID)

However the wiN is necessary only that the thought of designation should be

effective to make it into 192N -
= QYN MY JNI PPN YINID IND ONT

For if not for the @8> there is no aws »w.?
- PYY SN YDA DY PN YIN PN ONY YIN? Y S¥3 *wTpna 19
And similarly be w7775 in order for the w7 of the 21x to be effective it requires
with it wR>; for if there is no 2R°> the name WP cannot take effect on the
consecrated object -
- QYUN MY INI PNY
And therefore there is no 2w 19 and it will not be wpn.
- WA MY PR YIRS PN BN mwa 10w 19
And similarly with a ‘domain change’ if there is no 2X° there is no nw= "W,
- 128y 9392 DIWINT 1Y Y DU MY RIN ) YINY NDa I JaN

" This interpretation maintains that there is no difference between jup aws "W and 2Wwn awn MI°Y; in all cases 1w
awsn is AN by itself without wR>.

¥ The leather did not change in any way (as opposed to a w™» which is changed by the act of building it into the
house). It is only the designation of the owner that changes the name. A name change designation can be made only
by the owner. If there is no W, then it still belongs (entirely) to the original owner. The 213 cannot make a name
change for he did not acquire it yet (and perhaps the owner does not want this [name] change). If, however, there is
wIX°, then the owner relinquishes (part of) his ownership and the 213 can make the name change by designation. See
‘Thinking it over’.

? The rule by w7pi is that 213 cannot be w>7pn the stolen item unless there was 2°%v2 WX,

10 The rule is that nwA "w (the thief selling it to a nP1?) is not 7117 unless there was previously 2°9v2 WX,
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However by w>» even without the 2R> there is a 2w "2 and therefore the

awn "°w should be effective by itself to acquire it for the 1712,
$DWN MW PN DIYD 19999NRT DR NWYN DDV 231 1)

And similarly by a 7%v which became an 8, where X711 "1 asked previously;

‘and let the thief acquire the 70 through aws "5, In the case of X mwyn 720 (as
well as v n) the [own] " is evident; therefore, no VIR is required; for 7% awn "W is ANp.
However by awi "1°w of the MMy where the "W is not evident [and similarly by 1wy wipa
mwn] the "W is not effective unless there is wIR>. The x> allows the "W (whether it is ,0w
WP or M) to take effect and it is the "11°w that enables the 7°1p.

SUMMARY

According to the first answer of Md01N a JvP QWA MY requires WX for it to be 71Ip;
however 2wn awn "W is AP without WX, According to the second answer 1w
oW 1s 711 without R°; however in certain circumstances the awn "1°w cannot be
accomplished unless there is wIX> (as in the case of MMy, but not in the case of
v> ). The same holds true for mwa 1wy wIpn that they are 7132 by themselves
however the vIX> enables that there be a WP or MW Mw.

THINKING IT OVER

Mmoo states (in the "> Tw) that vX> (does not accomplish Pip but rather it)
accomplishes that the own "1 should be effective.!’ Why is it then necessary to
assume that own "W is 73p; even if it is not 713, the MW become 22p% WO
axm1Y through the awn "rw?!'

' See footnote # 8.
12 See (79°X1 09X 7"72) 8 MK 2,70 77 1" A
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